F PR e B A g lI28 T YRR E e B2 HEE A

BN LA

THEAP .
G S

-4 37 3

7 Hi e

HiTHE =

IEE Kk

FEFP

L—d

<> i %‘L};

~

-

P v

T E

T g A &

£ 73 R
& M

. =i n

{7

2. & %
BT T ALE G
T gepsd

PR (3
AL FEAY)

1.2 el
112. 04. 28~
112. 05. 28

2.7 EAB%R T B NS

FOGEeF € Ee
¥ ) 112.06.07-
112.07.07

o

v &
= I

e
N4k

"

%8 F ®bannerz @
EFAR%ER ST
ZR/ER ~RE AT
S EP ey i
B A B A
2 Ak € AT E AR
R ERE -

SR

e
&

¢ L

P

SR
4o
!595_'-\3 |+~
T ke oy
< 5
¥ ue

= S

112#67 14p 7% *|,

K

w

& A PEIE AL

I)v}a

AR L E Ty
L TaE L P
PN EMp %
» %1132 B ¥
M g o IARET A
B E AL € e T4 M
PRAED 2 kR
g g AL R A
SIS X R
AARSEEF
R G A e




0% PR € R A F L1287 pERs R 2 £ ke B2 A4

3 £ IEB‘ ’= 2 I W o 55 o ’= e %i?"ﬁ” Y, v s Qo
L 2 ;gawg B PR (HFIC|FELR|GFESD (HF4H _ﬁgg‘ A E TEEEHE % =S

112.07. 01~
112.07. 26 ERUER LR
A€ ATl T - %A R ’ f’;—jri._#}%ﬁ NI TR
g AL~ B (R |07:57 SN L E SR D S IS S+ 50, 000 ‘ RN o T S W

10:57 Ak A RS ey
14:57 ﬁg@ {EAL B 2% o
16:57

T FTRAL

Ry e
sp T
b
) é‘gt\
v
T
3
=
oy
“F

3

SRR N
= o

=
\/Qa,

P

T

1. 2 3%3F 8 - L BRLLE e
AR EEL R R RERSE (800,000 % £
’ 2T F i B~ o el ATR e
o gl 4 g2l 4 ~ fRET i g E ® R
wHE A E - % fo 1Ak °
L /é "? 'H_’_Vvljvl X o
= BT R
LRI REENEN 56
BT REF L
(R L
W R 2 g BT

FCHE ek o

T o A8
PRt ( % |112.5.4-112.11. 30
Ak TR

>
5

e

i
dk
PN
l_“"“h'

B FCRpAL L A5 1] %

ERTEIE S &

[
B
mly =y
R

T
(¢

Sl Dy
F/‘E \\‘\\ Eol

Ca et
ey de
$ W3
N

Do
2
R
N\
\
\-t—
o
N ﬁa\- St

oy
®y =% e




0% PR € R A F L1287 pERs R 2 £ ke B2 A4

Hi+: =
> é%'IEB * \ - ’= 2 < 3, o - 5 4y ’= pe ﬁi‘;’ﬁ};"’l Y 7 v , I3 3
vl I A ;Q;pggmme rHPfe (NFEE|FERR|FERD RiTEH ﬁgﬁ R E TEEEHE % L

© XN O W

AEGGRIEE 2 F021F 21046 0 “HI|FEE

) -

RETH g E M N IR RyEE o
FERALEBFE ~OOFYFE ~AEFE - HMBERFEE -
PAEZE A 0 Dhdg P ran e AL 2509000 R 2 2 PR 4 o
FEFPNAS > BAFE -PFUFEZALEIERQ )P F B A E I FEASHPP (xxd D AxxF ¥ ) e
Whirt SFSRFPrE&L R L2 EH AP A F i
EHREFIEBEEP Y - 2 FREE PRI AR -

SRS L LT

G A R R B R R ARBEPILICR A £ b b 5 B -

P F A FNE F 0 I5p WL P URR K

R ARNRS s AU 2R ED R X EFF PN ARG & S8 7] 0 40000. 00. 00-000. 00. 00 F #r42) 5 000. 00. 00 ~ 000. 00. 00(

00 Y ) 8 0= (1 B <




